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PART A: Vocabulary

Directions: Choose the word or phrase (1), (2), (3), or (4) that best completes each sentence.
Then mark the answer on your answer sheet.

1- e eye contact with your audience while giving your presentation.
1) Take 2) Insure 3) Direct 4) Make

2-  If - hold true, future global population growth will be heavily concentrated in
Latin America, Africa, and South Asia.
1) projections 2) inclinations 3) interventions 4) realizations

3-  Warning: Anyone caught stealing from these premises will be ---------- .
1) exonerated 2) intensified 3) prosecuted 4) legitimized

4- The manager’s inflammatory comments are just ---------- an already difficult situation.
He should think before he opens his mouth next time.
1) challenging 2) exacerbating 3) dispelling 4) affirming

5-  The internet seems to have almost ---------- every mode of communication ever invented!
1) captivated 2) superseded 3) allocated 4) commenced

6- The woman is known as an ---------- woman because she gives away millions of dollars
every year to various charities.
1) economical 2) aesthetic 3) unforeseen 4) altruistic

7-  Jen takes medicine at the first sight of a/an ---------- headache; Lin, by contrast, resists
taking medicine even when she’s really sick.
1) incipient 2) skeptical 3) ambiguous 4) credible

PART B: Cloze Test

Directions: Read the following passage and decide which choice (1), (2), (3), or (4) best fits
each space. Then mark the correct choice on your answer sheet.

Teachers play various roles in a typical classroom, but surely one of the most
important (8) ---------- classroom manager. Effective teaching and learning cannot take
place in (9) -=-==----- . If students are disorderly and disrespectful, and no apparent rules
and procedures guide behavior, chaos becomes the norm. In these situations, both
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teachers and students (10) ---------- . Teachers struggle to teach, and students most
likely learn much less than they should.

8- 1) being 2) of those are 3) is that of 4) ever to be is
9- 1) aclassroom is poorly managed 2) a managed classroom poorly

3) a poorly managed classroom 4) managing poorly a classroom
10- 1) suffer 2) they are suffered

3) to suffer 4) suffering

PART C: Reading Comprehension

Directions: Read the following three passages and answer the questions by choosing the best
choice (1), (2), (3), or (4). Then mark the correct choice on your answer sheet.

PASSAGE 1:

Xerxes (Khashayarsha, 486-465) had been viceroy of Babylon when his father died
and he succeeded to the imperial throne. He possessed little of the genius of his father
or Cyrus the Great. The Greek victory had led to a series of revolts in Asia Minor as
well as Egypt which, typically of Iranian history, had been exacerbated on account of
the death of the great shah. Xerxes’ first task was to quell the rebellions. He was less
inclined to campaigns for the expansion of his mighty empire than to court life and
building palaces, including extensive additions to Persepolis. But there was pressure
for punishing Athens and subduing the Greeks both from his own subordinates and
from the Athenian exiles.

In 480 BC Xerxes gathered the greatest army the world had yet seen although the
figure of a million men given in Greek sources is bound to be exaggerated- and
crossed the Hellespont, secured Thessalay and Macedonia, broke the heroic resistance
of the Spartans at Thermopylae, captured Athens and set fire to the Acropolis. Most of
the Greek world in Asia, Africa and Europe was then in his possession. But the Greeks
did not give up, concentrated their fleet on Salamis and defeated the King of King’s
forces at sea before his own eyes, watching as he was from his throne placed on the
shore. The chance of Persian victory that yet remained was shattered by the shah’s
angry reaction, including the killing of his Phoenician admiral, which led to extensive
desertions from his army and his withdrawal back to Persia. That ended the Persian
ambitions for extending the empire to Europe.

Xerxes was an ill-tempered ruler with proclivities to impulsive and cruel behaviour.
He was assassinated in a palace coup, the first of many of its kind in Iranian history if
we discount the fate of Gaumata. In this case the assassin was the shah's own son.

11-  According to paragraph 1, before coming to the throne, Xerxes ---------- .
1) tried to kill his father
2) was the ruler of Babylon
3) had little political experience
4) had no intention of succeeding his father
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12-

13-

15-

16-

17-

It is implied in paragraph 1 that Xerxes’s preference was to --------- .

1) build palaces 2) punish Athens

3) expand his empire 4) suppress rebellions

According to paragraph 2, Greek sources most probably represented Xerxes’s army as

1) vaguely as possible 2) precisely as possible

3) larger than what it really was 4) smaller than what it really was
Which of the following was NOT captured by Xerxes?

1) Athens 2) Salamis 3) Thessalay 4) Macedonia
The author’s attitude toward Xerxes can be best described as ---------- .

1) relaxed 2) critical 3) positive 4) ambivalent
PASSAGE 2:

Excavation often seems to the general public the main and certainly the most
glamorous aspect of archaeology; but fieldwork and excavation represent only a part
of the archaeologist's work. The other part is the interpretation in cultural and
historical contexts of the facts established—by chance, by fieldwork, and by digging—
about the material remains of man’s past.

The first concern is the accurate and exact description of all the artifacts concerned.
Classification and description are essential to all archaeological work, and, as in
botany and zoology, the first requirement is a good and objective taxonomy. Second,
there is a need for interpretive analysis of the material from which artifacts were made.
This is something that the archacologist himself is rarely equipped to do; he has to rely
on colleagues specializing in geology, petrology (analysis of rocks), and metallurgy. In
the early 1920s, H.H. Thomas of the Geological Survey of Great Britain was able to
show that stones used in the construction of Stonehenge (a prehistoric construction on
Salisbury Plain in southern England) had come from the Prescelly Mountains of north
Pembroke shire; and he established as a fact of prehistory that over 4,000 years ago
these large stones had been transported 200 miles from west Wales to Salisbury Plain.

In the third place, the archaeologist, having dealt with the material of his artifacts
by classification and taxonomy, and with its physical nature by petrology and
metallurgy, turns to the remaining information he can get from his colleagues in the
natural sciences. These tell him the environmental conditions in which the people he is
studying lived; he now sees his material remains not as isolated artifacts but in the
context of their original environments.

What does the passage mainly discuss?

1) Interpretation of excavated artifacts

2) Major problems faced by archeologists

3) Steps involved in archeological fieldwork

4) Excavation as the main aspect of archeology

What do botany and zoology have in common?

1) Their fundamental requirements 2) Their method of classification
3) Being essential to archeological work  4) The need for a good taxonomy
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19-

20-

21-

According to paragraph 2, archeologists, by themselves, usually CANNOT ---------- .
1) classify artifacts

2) rely on colleagues for interpretive analysis

3) describe what is essential to archaeological work

4) determine the material from which artifacts are made

The word “transported” in paragraph 2 could be best replaced by --------- .

1) carved 2) thrown 3) driven 4) carried
Paragraph 3 discusses how archeologists collect information about ---------- .

1) their colleagues 2) the taxonomy of an artifact

3) the physical nature of the artifact 4) the environmental context of an artifact
PASSAGE 3:

In the second chapter of the Vendidad of the Avesta, the omniscient Creator Ahura
Mazda asks Yima, a good shepherd, to receive his law and bring it to men. However,
Yima refuses, and so Ahura Mazda charges him with a different mission: to rule over
and nourish the earth, to see that the living things prosper. This Yima accepts, and
Ahura Mazda presents him with a golden seal and a dagger inlaid with gold.

Yima rules as king for three hundred years, and soon the earth was full of men,
flocks of birds and herds of animals. He deprived the daevas, who were demonic
servants of the evil Ahriman, of wealth, herds and reputation during his reign. Good
men, however, lived lives of plenty, and were neither sick nor aged. Father and son
walked together, each appearing no older than fifteen. Ahura Mazda visits him once
more, warning him of this overpopulation. Yima, shining with light, faced southwards
and pressed the golden seal against the earth and boring into it with the poniard, says
“O Spenta Armaiti, kindly open asunder and stretch thyself afar, to bear flocks and
herds and men.” The earth swells and Yima rules for hundreds of years. The same
problem occurs twice more and the same solution is employed each time, with the
earth swelling again.

The next part of the story tells of a meeting of Ahura Mazda and the Yazatas in
Airyanem Vaejah, the first of the “perfect lands”. Yima attends with a group of “the
best of mortals”, where Ahura Mazda warns him of an upcoming catastrophe. The
Vedivdad mentions that Ahura Mazda warns Yima that there will come a harsh winter
storm followed by melted snow. Ahura Mazda advises Yima to construct a Vara
(Avestan: enclosure) in the form of a multi-level cavern, two miles long and two miles
wide. This he is to populate with the fittest of men and women; and with two of every
animal, bird and plant; and supply with food and water gathered the previous summer.

Yima creates the Vara by crushing the earth with a stamp of his foot, and kneading
it into shape as a potter does clay. He creates streets and buildings, and brings nearly
two thousand people to live therein. He creates artificial light, and finally seals the
Vara with a golden ring.

All of the following are mentioned in paragraph 1 about Yima EXCEPT that he ---------- .
1) was a shepherd

2) received a dagger inlaid with gold

3) agreed to rule over and nurture the earth

4) accepted every mission that Ahura Mazda gave him
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The underlined word “his” in paragraph 2 refers to ---------- .

1) Yima 2) Ahriman 3) Ahura Mazda 4) demonic servant
The problem that recurred during Yima’s reign was -------- .

1) sickness 2) pollution 3) overpopulation  4) aging population

What was the catastrophe mentioned in paragraph 3?

1) The demolition of a large Vara

2) The death of the best of mortals

3) The destruction of the perfect lands

4) A severe winter storm followed by melted snow

Which of the following is NOT true about the Vara described in paragraph 3?
1) It had the form of a multi-level cavern. 2) It had streets and buildings.

3) It was a large sailing ship. 4) It was lit by artificial light.
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